DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 4)

Name:
TEST 3
Time: Score: y—
H —305.8 =10 = 16) —403.5 =10 =
2 —145.65 +5 = 376 + 0.1 =
3 13.07 =2 = 15 —174.5 = 0.05 =

H =898+ 1=

D —472 = (—1) =
0 58415+ (—7) =
N —60.9+2=

9 681.3 -+ (—0.9) =
) —3304 + (—4) =
0 —4365.9 + (—0.9) =
1 —112.7+10 =
12) —30870 =5 =

13 —15.088 + 4 =

1) —3348 -9 =

5 —9750 + (—3) =

Mathematics: Division - Level 6 - Horizontal - Set 4
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—62.49 + (—0.03) =

81 +6=
—86490 = 10 =
—347.2 +5 =
—30+2 =

—1.247 = 0.05 =

—94.29 = (—1)

—25690 = (—7)

—612.29 =7 =

—2655 + 0.6

1.5501 = 0.03 =

9012 + (—3)
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